



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{3}{5}\right) + \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^0 - \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{6}\right) =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{3}{5}\right) + \frac{3}{5} = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{22}{45}\right)$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{5} = \frac{93}{80} = 1\frac{13}{80}$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{6} = \frac{113}{192}$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{3}{4}\right) = \frac{407}{500}$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{1}{5}\right) = \frac{69}{320}$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{4}{45}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{2}{5}\right) = \frac{11}{40}$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{3} = \frac{149}{375}$$

$$\left(-\frac{3}{5}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) = (-1)$$

$$\left(-\frac{1}{5}\right)^2 + \frac{3}{4} = \frac{79}{100}$$

$$\left(-\frac{1}{5}\right)^2 - \frac{2}{5} = \left(-\frac{9}{25}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{3} = \left(-\frac{2}{9}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{48}\right)$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(\frac{3}{5}\right)^3 + \frac{2}{5} = \frac{77}{125}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{2} = \left(-\frac{17}{36}\right)$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{6}\right) = \frac{1}{12}$$